PID efficiency study

« Perform efficiency study in physical process Z — qq

e Calculate efficiency and purity in all phase space using minimum y? PID
e Lower degree has lower PID efficiency

e To understand dip in efficiency

<« Samples used

e Release version: CEPCSW tdr24.12.0
e Z — gq 100000 events (truth m: K: p = 1478354: 206389: 90225)

2024/12/20 X.Ma, C.Zhang



PID efficiency comparison with ParticleGun
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K TRK Efficiency

K TRHK Efticiency
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PID efficiency comparison with low momentum

K in Z — qq efficiency
at 40-50 degree
 From 0-10GeV
* From 0-1GeV



K in Z - gq at 40-50 degree
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PID efficiency dip around 3 GeV
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Backup
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